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HE DL=t XWo= 0.200 X 25.0 = 500 kN/m
B Ryl FW = 0.40 kN/nf
F i for T CL = 0.50 kN/ni
it L7 R W= 1.8DOL+FW)-1/3x0.80DL+FW)+CL= 8 78 kN/nf




3) ADHEAE (S2)  X7-X8 4
50 7 [0 - B R T Wx= b/ (&+0/) ) XW= 8. 40 kN/mi
Wx= 0.0084 kN/mm
BT T A Mx=WxX0/8=___5267.15 kN:mm
LB I X ARFEITT— A 2 b
IR EEERE  § =7d4/8=T7 ( 200 — 40 ) /8= 140.0 mm
PR OB HNFFER 1 E ft= F= 205 N/mn’
7= 6, 666, 667 mm’
I = 666, 666, 667 mm'* CoMA=atefte j = 1474410 kNemm
= 17.9924  kN/mm’
= 0.51 (&%)
Fx= 12 N/mn* LCMx<MA - c0K
fh= 0.5l Fx N/mn’
0f = 0x/4000 X HE{ZEL mm
BT OOEGUS A ob=Mx/7Z=_0.79 N/om' _ <fb=_ 177 N/mm’ :--0K
BTN Fo=db/K'= 240 N/mm’' __ <Fx=_ 12 N/mm’ :--0K
TebAEtHE 8 =5XWxXW/384E 1= 0.230 mm <= 101 mm_ - -0K
Fo< Fxiiox JEfasm/fE=12N/mm L. _FChEr]
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1) YiR— FOFETEN
e 3.110 m A2ZFE+RR= 0.270 m
FHEEE 0= 3.110 — 0.270 = 2.840 m (2.4m< ¢ =3.4m)
KiEdpar s U— b RICEEE=T2E NfF=(3200—5000) = 1780.0 kgf= 17.46 kN
n) BEZFEOHE
BHEmE A= 2.205 X 0.850 = 1.874 m  (RKFicH#HE—+& 850 By FICBTS)

8.78 X 1.874

17. 46 kN/A
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A) sy —F; Wz ) —h (Wo= 25 kN/m")
A A R (Fe= 27 N/mm*)
7)) gk ofiE SD 295A F= 295 N/mnm’
Bd i D10-D13AZ A @= 200 mm
AT T W 1 at= 496 mm’
) ATTE — AT (s52)
N2 280 B30 Lx= 4850 mm EiD Ly= 6550 mm
ARTTE t= 200 mm
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6) MLFEOCEE (Fri/s-22)
HE DL=t X Wo= 0.200 X 25 = 500 kN/ni
TP FW = 0.40 kN/mf
ftilil oy 11 (o = 0.50 kN/nf
i THTE ] W=1.8(DLAFW)-1/3X0. 8(DLAFW) +CL=___ 878 kN/nf
7) IEAOFHE
i smoafmE  Wx= (LyY/ Lx*+Ly") ) XW= 6.75 kN/nf
Wx= 0. 0068 kN/mm
gk E—A b Mx=WxXLx*/12= 13232.75 kN-mm
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SR O BHIRF AR E ft= F = 295 N/mn’

7= 6, 666, 667 -~

[ = 666,666,667 mm' MA=at:-ft: = ... 20484.80 _kN-mm___

E= 93.5767  kN/mm®

= 0.51 (&%)

Fe= 27 N/mm’ CMx<MA | ass0K

fh= 0.51y Fe N/mm’

§f= Lx/4000 X T E{RE mn
WIOURRCAHE . ob=Mx/Z= | 1.98 N/mm® Rl 2.65 N/mm* ---0K
LR ] Fo=ob /K= 1515 N/mm’ 0 N 27, N/mm’ _---0K
1= dr gl § =WxXLx'/384E =  0.619 mm <Sf= 2183 mm oo I
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